CC Coordinate Algebra tnit 2 — Solving Equations & inequailties Practice - Day 20

Name: Ke\i Date:
Systems of Linear Equations - Word Problems

4-Step Method:

1. Define variables

2. Write the system of equations

3. Solve showing all steps

4, State your solution in sentence form

1. You sell tickets for admission 1o your school play and collect o total of $104. Admission
prices are $6 for adults and $4 for children. You sold 21 tickets. How many adult hcke’rs and
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2. Your family goes to a restaurant for dinner. There are 6 people in your f&mily:~ (0] d’ér“&m\cq S}«

the chicken dinner for $14.80 and some order the steak dinner for $17. If the total b:ll WS $91
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3. ‘You bought the meat for Saturday’s cookout. A pdckdge of hot dogs Cost $TBO BRI S "

package of hamburger cost $5. You bought a total of 8 packages of i_dnd yogmskpe_“n’r e gt
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4. Casey orders 3 pizzas and 2 orders of breadsticks for a total of $29.50. Rachel orders 2
‘ plzzcrs dnd 3 orders of breddshcks for o total of $23. How m 0es O pIZZO cosi?r Al
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5. Rent-A-Car rents compact cars for a fixed amount per day plus a fixéd dmounT for each

mile driven. Benito rented a car for 6 days, drove it 550 miles, and spent $337. Lisa rented the
same car for 3 days, drove it 350 miles, and spent $185. What is the charge per day ¢ dnd the
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6. Beach Hotel in Cancun is offering two weekénd specials. One includes & mgh?‘f"?’ﬁ?‘fﬁ"’.?&k ot

meals and cost $195. The other includes a 3—n|gh’r stay with 5 meals and cost $300 th’r is the

cost of asingle meal? dr rS%E
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